F 6R
1B (K) 28 (£)
k% Bmb —A&Y | |#za =4 E —AHY
ERSE ERSE

N gy 30 % BEX(EH) 60
) EYIE 30| [ [@ExER 70
> % lxmz ww 6
~ &3 206 KhiE R 7
JAY &4
v | RBFFL(N—D) 35 |7 |4E 206

W TiE 1.5
F |R—ar(EMm 10 [T |[wzuscsunyzsg 35
A [mmmusaxam 10 9 1it=1asH 7
5 CRTEZY 7] [
'0) BAESHE 2 (7) AR 25
= |BUEFEH 40| |3 [Ew3Y 25
Z  |L®HE 8| [y (LB)k—La— 1ke 8
N AS 12| (B [phaE2ELyL Y 45
7o E==y 5/ |Y
A BAHLIZAIZE 0.5 35 EHECwhSLE (20m) 20
T [ysam o| |7 [migiF 7
5 () hThKE 3ke 20 | BOEER 25
S5 [ErIrFeyT ke 3 g [AB 7
7 |Er=rSv8— 200¢ 05| [ |FhFE 3
I | FEARESHE 5/ |& |HHT 5
Yo |YRE—Y—Z 1Y |Haz 2
7 |&f 03| |® [&FL £LR 3
¥ [cLs 005 [* [z 90
» |[FEZIUL 03/ |
| *
7 [EeRY 20| s
L [E3Y 25| |L»
T |AB 51 [&
[/ (LM k—jLa—> 1kg 8| |P
7 oo 1| |
D z

&) LEVRit BE-500g 1.2 +

B 1.5

BiE 0.2

cL&d 0.03

N=F i 05

(B R—TNALLT(1/4) 50




58(A) 68 (40 78 (K) 8H (K) 98 (&)
BB BR4 —AHY | |#mzs BR4A —AZY | |mus BERd —AHY | |#s BRd —AZY | |wus BERE — Ay
ERNE ERHE E®RDE ERDE ERDE
S [EEXER) 68| (7 [3u~ssy 50| (& [REEkER) 60| (3 [|3u~ssy 50| B [HER (B 60
& ek (B 75| |V |[avRssy s0| |Y  [#aadek 05| [Y  [avssty 50| |=  [HEEK(FE) 70
A milex 0s |7 © lan semsoom 20 "% T lxmz =5 6
4 > () A—=F oy 12 CIE5 (EENE - CIEARNED) 8 > (B) FaaxFoY—L /M 10 KiE Fit 7
3[R 206 4 |[AB 7 (B) FaaXEHY—L B 15) |4
A |&EE 206 (3, [CMTERT 1ke 5| |F g, (45 206
H |BRIEIVTF 15| | | Yo 05 |3 [4EL 206
o EE 1|7 |#s=mqor— 25| |81 [5F<BELLIW 25| |3 = [RADBTASAIE 40
b |y 20| |V [R—a(EM) 5| & | &E 15 [KX [men memitexem 12| |5 |fit-Aaif 8
¥ lysam 2| |7 |mGELesis 2o 0| |V [Leass 112 |ee stmsexem 8| |2 |BEE 3.8
2 (B BB ) 1ke 40 3 ROEER 40 ;é Bif 0.5 5 —ay (fEi) 7 g; L& 25
+ |[RUEEE 30| | |KLENS 10| | |[HLES 05| [ |Et#ELesvt(em 40| |4 | LB%E 3
o |AZ 10 A 10| (& L |EUEEH 40| 4, [=% 0.01
& |EHOIKEEYY) 15| |4 |emaeuars smbsk soos 4 | [&E 206 AyF—= 15| 1 |[& 4
Z  |L®HL 5/ |2 [GDLVXF 3 | 4 |E—=> 10| (A
W | FUrUYA 20 Yo 25 PTFLKR 4| 1L [B3LIZAIK o5 |1 [IFELXIR 4
= |paLEE 05| |7 |FEravus o5| = |[E&usE#s 0.3 R 0.5 Ep5Y 25
O [B5LIZAIC 02| | [a—uzx 001] |5 [Ew3Y 20| |2 [455m 05| [ [pazorLysLs 45
5 CFil 1 : FYAT i H— 100g oot |t AB 5 ?;1' AU—TH 05 Z‘;
n |ERABZ 3 |5 |BiE 05 |, |[BELZFLyL Y 45| |y [ERThKE ke 25| |= |UBAFAC 25
»n L& 22| |5 |SL&S 003| [ [|MWYBZE 500g 1 [z |@s0r=trFesd tke 3 |y |[HUEEH 15
H PR 15 i 80| |u¢ I FARESHE 1 |5 b 10
2 |FEVIVYA EIES 3 B FNEA 25| |7 | LB 05 |z |[AB 5
ThSA 1Y [(LRFESCHHE 1l (B [EiEs 1|1 1B |9rRE—=Y—2R 05 et 5
TARE or] |9 [Az 30 DECAIZRL 10 | . [Fxrarys 06| |B [L&SW 2
) 20 |7 |wmd—ra— e 10 FLLL:HRTAR) 05| |7 |&& 03| R [&E 1
; YACEE 2 et 5 |J SL&S 003 [T HYA 05
INMRZE 17| |2 | BEE 1 L& 2l s, & 40 BIVES =LA 3
AL 30 =} ] 0.4 BiE 03| |4 HLE 1
L& 12| a0 |AU=T i 0.5 BlYET LA 3l |5 vy 20 X 100
FEMNDE () 500g 1| |F |BiE 0.2 HLEH 1[5 |ZEedY 20
£ o|CLLS 0.02 7K 90 (W AT T ke 15
II) BEE 15
(fE) T ZE B — 40 {B) beUHL 30 Y54 1
Bif 0.3
L&D 0.02
=] 038




128(A) 138 () 148 (K) 158 (K) 168 (%)
BB B4 —A&Y | |#z% B4 —AN&Y | |#us BR% —A&Y | |#zs B4 —A&Y | |#is BRf —AZHY
E%RDE ERDE RS E ERDE ERDE
£ |BAXEHR 60| [7  [awu~ssy 50 (X [#EEK(FEH) 60| |7 [#EEk(FEE) 60| [ [HEEX(BER) 68
< [BEXEHD 0| Y |ayRisy 50| |= [BEXEH) 70 |7V A% (ER) 70 |I& [BEXER 75
‘g KHE Ei of | 'g KHE BH 6| [T [xmz =z 6| |~ [saaiesk 05
*H%E FH 1o &2 206 kHiE R 1| |7 [xHE FH 7| |5
L # 2 & [UE/MAEE 8
C |[(LHLEARE 8| |4 [(LMEXT HiE 20| |z, [4FEL 206| |~ |ERAESUF 17| |
H 7, (R—av(Em 7 = |EA vEA 17 | [&4EL 206
D (&3 206 BREYE (2 X 26151 R) 15| |7 e L@ x3m) 50 | |RELEEHE 40| [<
2 K |[ESESHE 2| |7 [BE 15) |1& Ay 15| |72 |mevitex2mz542) 20
T —— 20| |2 |mostesnsem 20| |1 |&E 02| [&  [FsTuB 7[R [Esromh ke 40
;E Bl 2 ? BOEER 30 ; ZL&S 002| [T |&ESTUA 7 # BOEEH 40
= R—ar ER) |3 AS 10| 1% VI DY IAL 01] |4 EALIZAIZL 05] |g  |[HOoARGERYY) 20
3 B ECoALE (20m) 70| |4 TULE(1x3x0. 3em) BLE 15 > F—ILR/SAR ¥ 300gk 0.1 ) AA—RI\D)L g 0.04 AS 12
g, |REESEE 35| || o—yx 0.1 T HH 0.05 Y55l 1| | |®EeLiifs 500e 10
AZ 10 S5 05| |4 [TASXA 88| | |HYA 3| |2 |BALIZAIZL 0.5
L [FRISSHZR 15| |7 B 03| [% [x® 35 || L&SKH 25| |& |34 1
*ysam o5 |1 |zLss 003| |V |ttt 5| |17 [#4r8—v—2 1| |2 25
ZJ: LEE 18] [T [Fxravux os| |7 Z  |EE 1 |? |[cae 33
% LeSK 3.2 : INE— 2 g_ AV 20 7|< =t 0.9 g LeSH 4
PUF: 10] |4 S5 1|5 =3y 25| |5 |BIE 04 g |GOtetrFryT ik 1.7
7 5 INE#H 3 Z (LM)FR—JLa—> 1kg 8 L& 0.02 & () FTh/SY5— 200g 0.1
z | FEeRY 20| (&4 [FAEAE%EL 20 ABYTURL YL 45| | [TARA 1 brepii 1
N REPL 30 i 50| | X 1) CFEim 07| /v | FEOLYA 0.6
T |t<BAGH) 1kek 7| |F a3 | R—av(Em 7| |~ N | BiE 0.1
D LESKW 1.2 '0 HATA VS ES3m) 150 |7 |BELEEH 20 #E 206| R [TASA 1
; #YEE 5008 1| (X [ze5Y 22 ; KR 20 Dk 10
= AS 5 g AS 5 0—2/\A GEf) BRikE 7 ;
(LRR—La—> ke 8| |x |CRCEHT ke 5 FoTHA 20| |17 [AMAKR 17
- LEE i Fa=D) 2 BOEER 15) [L  [KbHoL 25
< L&KW 2| |» [HHLE 4 E—oy 5/ v |AZ 5
) BEE 1.5) [& (&) H5RX—F 3Bkg 4 () HHR—F 3kg af ¥ [whh—na— ke 8
A Y54 05| A |L&SKW 05 L& 05| [~ [L&SKW 2
& F—ER () os| [X [&iE 03 H545 3 o5 |7 |&mE 2
z F—ER (F#H) 15 ’:‘k’ cLES 0.03 FxoasuA 03 | [tom 1
5 |[FEravus 0.3 e ol| |[* [CEm 05
(B)F—X_gkiait (BL) 13.5 ol 110 BiE 0.5 WYBHIFE 500g 1
cL&d 0.03
(B)Fn=#%E 2 > 100
BTy gEsaadt 60




198 (A) 208 (K) 218 (JK) 22H (K) 238 (%)
k4 B4 —ABY | |#ze BR% —AN&Y | @z BR% —A&Y | |#izs BR% —ABY | |#is BER% —AZY
EMAE| | FRHE FKRHE FRHE F®RHE
h | BARER 60| |= [HEKER) 68| (3 R/ 50 % BEEX(EF) 60 41 BB X (FH) 60
ll/ BEX(EHR) 0| [F [maxER 75| |V [3uRiy 50| |5 [BE%X(EH) 0| |€  [BEXER 70
_ *kuE Fit 8| [~ fxeR{b K 0.5 /,\\ % *kuE Fit 6| |V XAz FiE 6
7 [xmE ZE 7| | SENEE] 206 KenE it 1| |3 [RHE =5 7
z C E)uLZEznY 10 . =
~  |EB(EXx3mRSAR) 20| [= 4 |BELEx2mR51R) 25| |z, |4E 208| || |4A(Ex3mRFAR) 30
= ([RTEEH 40| (o |43 206 |3 |mEELepLE(20om) 40 A |EHE 1
Z |ERuELesting(2m) 45( |Y BOEEH 50| & |[Famsbooszad I 50| [~ [RLEEHE 50
F  (AB 15 B (2 x 20m2 51 R) 25| |5 [GA)ULITKE 20| [P [eosbiosems B 60 AB 10
Ao [ oEia ke 5| |+ [mE 1| 7= [Lst 10] |2 £ [Finrer@saw) 05
T ELURE 5| |1 [emem@iam 17 g 18ty 0.5 gi TARD 5] [ [z 10
4 |[EOPTEKE 3ke 5 |- |KTEEHE 30f [ [B5LISAIC 05 |z |[ABIF 0y [P 1
3 |BBLIZAIK 05| |5 [AZ 10| |v |¥3%iH 1|5 [AZ 1z L3R 55
Y5 1 | [®EensFs 500g 7 [, 32— 05| [1+ [Y1IFLKIE 1 s |#YA 4
B hEH 55| £ [FLLLEFERSAR) 1| |&E [ rhkE 3ke 25| [ [FLLLEH(RSAR) 05| [» | kB 1.8
T [B3¥H 45| |9 55/ 1 (8) FerrFryT ke 2| |[F [@avnats 500e 7l | |BE 0.3
2 |AL—# 1) |5 |LesSw 32| [Y  |@wmrwrsmg— 200 0.1 Y55 iH 1|7 [CASRA 0.6
Y [@se2—7 oke 3| |2 [ZEs 19| |7 [®AESE i| 7 [Lese 25| |7 |EIvEs LM 3
7 [prs—vy==x 3 f B o3 7 [Lam 05| |2 [ 1| |7 [#LE® 1
FAESH 2 |l LZ 60f |5 [2RZ—VY—R 07| |” &Y% 05 |s | 50
F |[@®errFeyT ke 2 FEAVYA 05| |k |BE 1 &
[ LADDY—R 1 [ [ZedY 25| |3 |[&iE 03| [ |CEiH 03| |5 |43 206
O 1) 1 [v  [AbBoL 20| || [2L&S 003| [@ |k 20| |#
FYAR 450g 1| [BE AS 5/ 17 |8 20 |5 piN (A BEL®TSA 500g 52
BiE o8| & |KEE 07| |V ‘S EEE 25| |A |fit-tam 7
) 004 | [Lesw 15 & [ze3Y 25 2 A&0L 20
FExavy i 0.7 #» iA=L 0.5 TRy 20| | AS 5 (fE) & M A 80
> 90| |1 WYBIFE 500g 1 (LM FSCHHE 7L FLZ 05
A YA CEE 2[ |z |[L&SW 1
42 208| | |UE)HDATI—ZR 125 BFE 1| |5
EY =t 04| |Y
FoRY 20| || AU—T it 03| |&
Zp5Y 25| | A Y5453 03| |%
(32) iBEIYIR 05 BiE 0.2
(LR)R—JLa—> ke 8 L&D 0.02
HELERLYL LY 45
(B)I—5 Vb 851 70
(B) % v 74F—X 5s i 10




26H (H) 278 () 28H (JK) 298 (K) 308 (£)
k4 Ba% —ABY | |#zs BR% —AN&Y | @z BR% —A&Y | |#izs BR% —A&BY | |#izs BER% —AZY
ERDE ERDE RS E ERDE ERDE
S |BEXER) 68| (B |2/ 50 (P [#EEK(FE) 60| |72 [HEEX(BRK) 60| (X |HEX(FF) 60
& smExE®R 75| | |2/ 50| (¥ [BE%(ER 70| (S [#EgiEk 05 | |BEX(ER) 70
A ik os| |1 [mzm 75 i KEE B 6 (A)1-2 (21 5em) 15 % KimE EH 6
4 7 (pEm 15] [ [xumE FE 1| |4 |[BBLEE 03 kAE EiE 7
) 4Z 206 % _ Y ) HBT 5 #® _
Z) 45 206| [~ |BAHi(2x2mz51R) 20 CUES (EEASE CIRARINED) 10] (gL 43, 206
v |BAILIF 20 = | BALEE 02| |< AS 7
[ Bl 1| |3 [Brtex2mzs542) 10| [ L&KW 1.2| [& CROERET ke 5| |5 |mesit(3x3mzx542) 40
R |08 EEGvR) ke 65| || (4) S Gruk) 1ke 15| & [BE 1 [P |53<BLES 24| |2 |pALEE 0.8
)'_: BOEEH 40 ‘;’ FrARY 25| |A (LR ST o ke 20 2; B 24 j_\"\ BBLIZAIZK 038
5 A 10 |7, AEHL 15| |7 |FuEUH4 25! | 3 =} 0.3 Z B 1
5 [EoskEcEREY) 10| |, [F=vGvh) 15 |4 |[KEEEE 30/ | |BIE 08 BEXLF ke 25
AhE 3 |5 | BSF 1 |g |AZ 10| |4, UHLEH 05| |4 |[FEXAY 30
b [ BALAEE i 1 [LedR 1 FLLLVF (RS54 R) 0.5 [¢x L | AE®L 20
#E |BALIZAIK 08| |1 CFEil 05| | [HSFH 1[5 [4E 206| )L |[RELEFEHE 20
B (B 1 FEravY R 03| |z [SEim 05 > 7
Z |@wirrrrryT ke 3| | &k 02| 1€ [@wrezr—7F 3k 3l 12 [wex smave 15| |2 [CEm 05
sz 0.2 g LS 0.03 R L&SK 15 |2 |[hacawsesem 25 7’ L&SH 3
& |[LEdP 35 o [ER2BEH)S00g 0.5 - FEoavYA 0.4 ‘;} AS |z N=F: 0.8
7 () HBR—T 3kg 3 2 L Big 0.4 s+ (8) Eh i (hyb) B -200g 1.8 F
[ KHZ 25| | M BFADIHN 25| | |EL&S 0.06 BwyaIFE 1 |y D 17
£ |=EB 08| [ [FLbh & (hyk) 08| [/, [TARA 15| |gy  |SFh 08| [v | EHE®L 25
v [FERavIA 0.45 BOEER 15| |5 |iB 40| |1 (LR 26| [~ |AB 5
Fo|BiE ol| [¥ [As 10| |& EALED Y 12 [ |[wrk—ra— ke 8
SRE ois| | [BE THCARE=] 206| |7 |#YA 04| |0 |&E 15
CEil o1l |7 [Lesw 08| |. I rEut 0] |7 [cEm 05
TARA 1 'Ij (%) HHR—F 3kg 3 L))J O8) IMCBUL LB S 40| |~ N (ST 2
b 30| |4 |[FELAVL 03| |z |EfAaif 4 S5EA 20 N=F;: 1
| |BE 03| |L izibelvd 7 BiE 02
KR 20| £ [SL&S 0.03| |x |PIFELKIR 4 LoHL 10 WYBIE 500g 1
=p3Y 25( | 3| 01| [# [Ew3Y 20 ¥ 5
AB 5| |1 [ByBcE 1] [@ |ebt—ra—y 1 8 D 6 B SvoRFwY 15
(LR)A—La—> ke 8 & 100] |- BEE 2 HA&*Z 2
BRBELY LY 45 % L&50 2 EFL LA 3
(B) & —H7—H—Fy— 50 z N =L 1 & 110
{B) MEAYF—EE 8 CFEi 0.5
WYBIE 500g 1 CENESE X Pl 25




